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@ TEEDPerson7TZARIZ, bmiZFEtE T HbmiAV vk
e S TLZEUY,

class Person:
def _ init (self, w=60, h=160):
self. weight = w
self. height = h

def bmi(self):

return CCEERD

a = Person(50, 150)
print(a.bmi())

22.22222222222222

=16 - fE=

class Person:
def init_(self, w=60, h=160):
self. weight

self. height

=w
= h
def bmi(self):
return self. weight / (self. height / 100) ** 2

a = Person(50, 150)
print(a.bmi())
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@ matplotlibZAL\T.,

y=3x" —2x> + 10x + 30
DTS TEHNTLIESLY,

import matplotlib.pyplot as plt

=200

-400

plt.rcParams["font.family”] = "IPAexGothic”

xp = [x * 8.1 for x in range(-50, 51)]

plt.plot(xp, | CCEEZD

plt.xlabel("f&EEH")
plt.ylabel("#f#H")

L 7 <

import matplotlib.pyplot as plt

plt.rcParams["font.family"] = "IPAexGothic"

Xp = [x * 8.1 for x in range(-50, 51)]

plt.plot(xp, [3 * x**3 - 2*x**2 +10*x + 30 for x in xp])

plt.xlabel("f&EH")
plt.ylabel("#t#h")
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age = data.rE{¥.value counts()
print(sei)

plt.rcParams["font.size™] = 15

fig, axes = plt.subplots(nrows=1, ncols=2, figsize=(10, 5))
fig.tight layout()

age.plot.bar(ax=axes[0], title="F{{")
age.plot.pie(ax=axes[1], autopct="%.1f%%")

plt.show()
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import pandas as pd
import numpy as np
import matplotlib.pyplot as plt

plt.rcParams[“font.family"] "IPAexGothic"

plt.rcParams|["font.size"] = 15

file = pd.ExcelFile("Downloads\python.x1sx")
data = file.parse("TE:HEH")
print(data)

ax = data.plot.scatter(x="HZ A ", y="shHMNE A", figsize=(10, 5))
for k, v in data.iterrows():

if v[2] >= 10000000:
ax.annotate(v[@], xy=(v[2], v[1]), size=12)
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fig, axes = plt.subplots(nrows=1, ncols=2, figsize=(10, 5))
data[data.%Bﬂiﬂ%§i=="ﬂ:§%§i"].1oc[:, "WEE":].1iloc[@].plot.pie(ax=axes[0],
autopct="%.1f%%", title="TIEIE")

data[data.&f B E==""148E"]. loc[ , "FMEE":].1loc[0@].plot.pie(ax=axes[1],
autopct="%.1f%%", title=";Pi8E")

@ FRIRAREKBR AT DB

fig, axes = plt.subplots(nrows=1, ncols=2, figsize=(10, 5))
data[data.3f B/ B=="887%#("].1loc[:, "fitEE":].iloc[@].plot.pie(ax=axes[@],
autopct="%.1f%%", title="BEm%[l")

data[data. 3B E=="FRF"].loc[:, "ftEE":].iloc[@].plot.pie(ax=axes[1],
autopct="%.1f%%", title="AfRfF")
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